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ANNUAL INTERMEDIATE EXAMINATION - 2024

SOCIOLOGY
( Optional )

Tatai Time ; 3 Hours 15 minutce Full Marks : 80

FegAa: 3492 157 quiies : 80
General Instructions / mﬁi’{w H
1. This Question Booklct has two Parts — Part-A and Part-B.

< g79-qfeE § 8 W — YW-A Y] WRLB €

5 Part-A is of MCQ Type having 30 marks and Part-B is of Subjective

Type having 50 marks.
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The candidate has to answer in the Answer Booklet which will be

L

provided scparatcly.
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4. Part-A — There are 30 Multiple Choicc Qucstions h

oplions { A, B, C & D ). The candidate has 1O write the correct option

in the Answer Booklet. All questions ar¢ compulsory- Each question

carries 1 mark. There is no negative marking for wrong answer.

IPT-A — FHN aommiﬁﬁflﬁm
qﬂmﬂﬁﬁm-gfﬁwﬁaﬂmﬁ«m%mﬁmaﬁﬂﬁilﬂﬁm

1 3% W1 B TG I & frg FE 3 F T A
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5. Part-B — There are three sections ! Section-A, B & C.

This part is of Subjective Type having Very Short Answcr, Short

Answer & Long Answer Type questions. Total number of questions

is 22.

Section-A — Question Nos. 31-38 are Very Short Answer Type-
Answer any 6 questons, Each question carries
2 marks.

Section-B — Question Nos. 39-46 arc Short Answer Type. Answer

any 6 questions. Each question carrics 3 marks:

Answer the questions in maximum 150 words each.
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Section-C — Qucstion Nus. 47-52 arc Long Answer Type. Answer
any 4 questions. Bach question carrics 8 marks,
Answer the questions in maximum 250 words each.

WA-B — 3W WM § I G — &S-A, BAw ¢ ¥ 3w wym § o @y
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22 2

w|E-A - W & 31-38 fd &Y F9 3| fedi 6 vl & I
Yo H Y 2 Heb 6 B

WUs-B ——m.lti@n39-46?-rga?lﬂw€|ﬁﬁ?6wﬁ%m§r
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150 =g 4 &

WUE-C  — W HET 47-52 3 e &) R 4 v F w3 vaw

T 5 A H 3| TS T H IR 3uwan 250 wee) § 3
6.

Candidates are required to answer in their own words as far as

practicable.

Rl gumivg a9 v 3 @ 3w 3
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Candidate has to hand over his/her AnSWer Booklet to the

Invigilator compulsorily before leaving the examination hall.

aﬁmzﬁuﬁanma?s#%qgﬁm:ﬂ?—gﬁwﬁgﬁ;aﬁyﬁmﬁm#
cAerd |

Candidalcs can lake away the Qucstion Bookle! after complection of

the Examination.
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( Multiple Choice Type Questions )

( FRfermmedta e )

Question Nos. 1 to 30 are Multiple Choice Type. Each question has Jour

options. Select the correct option and wrile it in the Answer Sheet

Each question carries 1 mark. 1 % 30 - 30
mmlﬂaawmmﬁlmm%wﬁm%’mﬁﬁm

R I gl Rl sk e 1 3 0

Who gave the theory of "Cultural lag' ?
(4“-']/! Durkheim (B) Max Weber

(€ Karl M
Karl Marx ’AD] Ogburn

/‘7
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“gigfeh faeraat firgra fren fa

g 3
(A e (B)
) i " (D) FHAhTeA

Tana Bhagat movement is related to

Dalit
lﬁ) Backward class (B]

(D)  All of these

(C) Tribes
) fed @

() ofera @

) wAaasi H

D) ¥ a @
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In tribal life the ‘Ghotul represenis a

(A)  Youth Organisation

(B) Traditional lcader

(C) Form of marriage
| (D)  Regional deity
Sty St d e wfafifes s 2
(A) I HTET
(B) WRETR var &1
AT
((_(.,l foae & s W
(D} afta man =
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=} What 1s 2 Sororate ?

IA} gtSlCr‘in'lﬂ\\' AaArriare

{%}, Polygamous marriage

(C)  Brother-in-law marriage
(D) Polyandrous marriage
AR TR ?

A] | faame
"(B) TET fae

€ T faETE

() T e
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Who gave the theory of elementary form of religious life ?

(A) Cuber (B) Frazer

(C) Johnson (D} Durkheim

utfife w7 #1 yfe @wg w1 fagra Bl fan 7
y’ il ®) %
(€) s D) g¥w
6.  In which ycar was Sociology founded ?
(A) 1798 (B) 1838
(C) 1818 ‘ (D) 1828
AR 1 e fem o f
(A) 1798 (B)) 1838

(C) 1818 | (D) 1828

TLV(XIN)-51084 XA-8OC-(OPT.)}A 9/ 35
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?.I who gave the theory of Suicide ?
(A) Maélvcr & Page
(B) Max Weber
(C} Tonnics

-

(D}, Durkheim

g w1 fuga fead i 2

n) e A
B) ¥ I
) T

(D) 5™
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8. Who said, "Sociology is the newwork of social rclationship” @
(A}  Max Wceber

(B) Sorokin

(C) Cooley

(FJ Maclver & Page

%ﬂﬁ%ﬁ"mwam?ﬁmﬂm%“ ?

A) Y95 Ja
/.r'{g]\ "v'ﬁﬁhﬂ
€ %=

D) g vg A
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9.  What pereentage of National Income in India is generated from

agriculture ?

(A) .28% (B) 30%
J

() 29% (D) 40%

v # e o fte i @ wm A 2

W 28% (B) 30%

(C) 29% (D) 40%

10. What has been the basis of women's movement ?
(A) Fcmale infanticide
[§I/ Social cvil customs
(C) Sati Pratha

(D) Feminism

TLV(X11|-§1084 | XA-80C-{OPT.)-A ' 12 7 35
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(A)  wfgen R gen
)/ Wt gwen
(C) &l g

(D) wEm

1. Who used the term ‘social control for the Srst gt 2
(A) Comte (B) Ross

(C)  Maclver (D) Covln

Fdvem Rl s s @ T R

@?m | oW
C)  Awm T
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12. Green Revolution is related to

(A} Politics . (8] Religion
(C) Culture }P‘ Agriculture
(A) T | @) wHad

() wpRa ) FEH
13. What is the objective of 'Make in India’ ?

(A]  Self-reliant India

(B) | Economic development

(C) Use of modern machineries

(D) Al of these

TLV(XI1I)-S 1084 XA-80C-(OPT.)-A 14 / 327
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Who said, 'Man is & sucial animal' ?

(A) Comte (B)_ Aristotle

{C}] Plato (D)  Socrates

Fra v W o s w2

(A) iR (B) I

© =@ (D) @

‘Sarhul' is a famous festival of which state ?

(A} Tamil Nadu (B) Punjab

F.

(C) Assam (E_) Jharkhand

@mrsmsq XA-SOC-{OPT.)-A
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e’ e T W G TR T R 7

(A)  AMCTY
(B) T
(C) HEW
(D) @R@s

When was Brahmo Samaj founded ?

(ﬁ]} 1828 (B) 1830
SC] 1829 (D) 1839
ST WATS ) TATHAT m‘a w7

(A) 1828 (B) 1830

(c) 1829 (D) 1839

TLV(XII)-S 1084 I XA-SOC-(OPT.)-A
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17. Nationalism mcans
(A)  Gencral Social background
(B) Empire Caste background
(C) General Geographic background
(D) None of thesc
TgaTS 61 3 %
A W e ey
(B)  wmrsy srfy gey
€)== ﬂ“hﬁf%ﬁ: ELEIL!

D) W & w4 5
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In which state is litcracy rate highest ?

(A) Bihar

(B) Uttar Pradesh

{C) Kerala

(D) Punjab -

Ry U= ) 1 X HEE TG 8 ?

w Rw
(B) W
fg) ¥
(D)

TLV(XHO)-5 1084 XA-SOC-(OPT.)-A
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19. Who gave the concept of 'Positivism’ ?
(A) Durkhcim
(B) August Comtq
(C)n C. H. Cooley
(D) Max Weber

‘geagETe’ & staurn fea é@ 2

(&) g

I FHiR
(€C)  How=o g
O ¥
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20. Chipko movemcnt is related to

(A] Land ] (B) Water
©r Tree D)  Air
el s weifira 2

(a) A B) v &
© 3=a D) "wa

2. What are the characteristics of Globalisation ?
(A)  Uroversaity
(B3) Hamogeneity
{C}] Intepration

(1)} All e thene

ﬁiwffﬁé’ o84 | XA-BOC-(OPT.).A
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(B) EAMEA
(C) THFW
(D) %8 | Wi

22.  Who is the father of Project Work 2

Al W H. Kilpatrick

() 1) Marsha!

W A0 Hume

WY Nogw of them

TLVIXY) 81084 XA BOC (OFT ) A
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) EEGoTo el
' (B] Blo om¥ie

(C) Todllo ¥

(D) =4 & Y &

23.  Who gave the theory of class struggle ?
(A) Karl Marx
(B) Risley
(C) Maclver

(D) Frazer

[TEvea) §1084) ¥A-80C-0PT)-A 22 / ¥
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("@ F1dl Ty
B o=
(C) UHFR

(D) Sha

24.  In which state is Green Revolution highly successful ?

(A)  Gujarat /(ﬁ}: Punjab
(C) Assam (D) Bihar

gita i~ fora T o =3 TweE W@ 7
(A)  ToRm@ 'iBy e

C) 3mw (D) fawm
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25 Colomalism s tie result ol
(A} Impernalism
(B) Sociahsm
(C) Humanism
(D) Internationalism
Ifrawa fva de w1 sfawa R 5
1A) _ WHRRETS
(B) wHWwEIg
(C) WHEAETg
(D) EEEETE
ELV[xm.s 1084 xA-scl)c.[opT_l_ A
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26.  Adivasi Mahasabha was an organisation of

(A) Oraon

(3) Munda

y Santhal

(D)  None of these

SEETE HeTen %1 Wiga o
(A) IS T
(B) Wt
(€C) By =
D) w2
TLV(X1) S 1084 XA-SOC-(OPT.)-A
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27 When was New Populauon Palicy annnunced 7

(A} 1949 (3) 2000
&3 2001 () 2002

7 oflm a3 AR v ot € of 7

{A) 1999 (B)y 2000

(C) 2001 (D) 2002

28. Whch of the following tribal socictics is Maternal society ?

(A} Garo
(B} Munda
{9 Santhal

(D) None of these

V(XT)-S1084 XA-SOC{ . | 3.“
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(3) HUsI

(C) ®u=

(D) w9 8 B T

29. The model of Indian Economy is of which Lype ?
(A) Capitalist
(B)  Mixed
(C}  Socialist

(D}  Communist

4 %mu[ XA-8OC-{OPT.)-A 27 / 35
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() Yllan
Ve ferf
) dwiaand
(0] )

O What is the number of females per 1000 males in India as pe

census 2001 ?
(A o67 B) 947
}C' "33 (D) 955

2001 it T F FTER R 1§ iy 1000 3% w fst ) T 2

@)y 967 ® 947
© 33 o 955
TLV(XI)-S1957 XA-S0C-(OPT.)-A 28 / ¥
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{ Subjective Type )
( faaufis wm )
Section - A
T us - A
{ Very short answer type questions )
( i +1g 39da v )
Answer any six questions. 2xb=12

5l B w9 & I 2

-

3b What is Demography ?
3

\
FIATERR #9182

(j‘j What are the three units of Panchayati Raj ?
TR e ) i g FE 7
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53 What is Untouchable ?
,/
WIE TR ?
:?‘ Define Markel.

N

FTER a6l ghfya =1 |

85, What.s Sanskritisation ?

FERG ) TR ?

What is religious minority ?

_\(:;)
.U‘n

y e smareE R ?

37, Whatis Communalism ?

AR CIC L

4 '~ XA-SOC- .
FEvom)51082) (OPT.).A 0,9
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38.  What is Presswe group ?
TET EE R 7
Section - B
ovEg - B

( Short answer type questions )

(v Tiaum)

Answer any six questions. Answer the questions in maximum

150 words each. . 3x6=18

el ;S 3 T 31 SR T 9 o e 150 8 3y

@What do you mean by Birsa movement ?

faran aridier @ o & W € 7
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ﬁ What i1s Secularism ?

THAYATA R R 7

_}{. Differentiate between Rural and Urban community.

mﬁaﬂzmm%aﬁammﬁj

42. Discuss the Malthus theory of Population.

o+ TaeE fagm et |

43. Discuss the impact of Colonialism in Indian society.

qEE TR T IYTIINETE & I9mEl 1 9of i |

44) Throw light on communication media and social change,

4

sam mem Aq1 gt uf@ds woawn g il |

FLV(X1)-51084 XA-80C-(OPT.)-A
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45.  Discuss the positive consequences of Globalisation.
]

W%Wmmﬁﬁﬁﬂamj)

46.  Highlight the effects of population growth in Indiz.

9RE § SvaeEn 3fg & i &1 3@ #+ |

Section - C

|qUg - C

( Long answer type questions |

(e vr)

Answer any four quesfions. Answer the

250 words each. 2.1 5

frdl wm W & IW A TR TR W I N R0 we 3
47, What is class ? Explamn the charactonsies 20 0 ass svsteman India.

arl @ @ 7 @l swarn @ Rdwen & @

[ruvpan S1084) xa-s0c F )& .
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'4{ Define Urbanisation and describe the social consequences of

/

Urbanisation in India.

mﬂmﬁvﬂmiﬁmﬁmﬁmqﬁmﬁﬁﬁﬁw
Call
49, Di fferentiate between political party and pressure group.
zam Tg 2R usEifas oo § it wWE = |
50. Discuss the results of Dalit movemnent.
<o e 5 ST A el X |
51. What is family ? How many types of family are there in India ?

faw ¥ & 2 s # frant wR % aNER arg wm § 7

_—-—«M - =
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52,, Distinguish between casic and class.
t'/

aﬂ%qaiaﬁ%ihafa"{mﬁl
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